
Quadratic Sequences
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1(a) Given the sequence, 

3, 6, 11, 18

What is the next term?

Circle your answer below. 

[1 mark]

23 25 27 29

1(b) Consider the following quadratic sequence

𝑛2 + 4𝑛 − 7

What is the 5th term in the sequence?

Circle your answer below. 

[1 mark]

38 18 52 12

1(c) Circle the quadratic sequence from the list of sequences below.

[1 mark]

7, 0, −5,−8,−9 1,1, 2, 3, 5

2, 8, 11, 14, 17 3, 5, 7, 10

Turn over for next question

Turn over ►

3
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2 Use the following quadratic equation:

𝑛2 + 6𝑛 − 10

2(a) List the first 5 terms in the sequence. 

[2 marks]

Answer

2(b) Does the number 765 appear in this sequence. 

Show your working below. 

[1 mark]

Answer

Turn over ►

3
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3 Find the nth term for the following sequences,

3(a) 14, 20, 28, 38, 50

[3 marks]

Answer

3(b) 0, 0, 2, 6, 12

[3 marks]

Answer

3(c) 4, 5, 8, 13, 20

[3 marks]

Answer

3(d) 100, 96, 90, 82, 72

[3 marks]

Answer

Turn over for next question

Turn over ►

12
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4 Find the nth term for the following sequences,

4(a) 2, 6, 12, 20, 30

[3 marks]

Answer

4(b) 3, 10, 21, 36, 55

[3 marks]

Answer

4(c) 0, 5, 12, 21, 32

[3 marks]

Answer

4(d) 1, 9, 19, 31, 45

[3 marks]

Answer

Turn over for next question

Turn over ►

12
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5 A quadratic sequence is shown below.

𝑥,   (𝑥 + 𝑦), (𝑥 + 𝑦 + 4), (𝑥 + 𝑦 + 10)

The sequence has an 𝑛th term of 𝑛2 − 𝑛 + 5

Find the values of 𝑥 and 𝑦.

[2 marks]

Answer

End of Questions

END

3
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